g/g Tagging

qg, pT = 300-400 GeV, AK8

| | | | | 102
R=0.8 r Qjet 4.9 5.4 4.8 9.1 5.4 o
pr 300-400 GeV — ] rJ
Neonstits 9.9 9.2 9.6 9.6 9.3 9.6 8.7 _| L'Q
L - ®
_ 2 | 4 | aa . [ .. . I}
C1B_O and nconstits the C1 4.3 5.1 4.2 8.3 5.2 4.2 } 2
mOSt performant’ bUt CB=1 4.6 5.1 5.2 8.1 4.7 gl
considerable overlap 'L 4410 A~
— —bh
between the two. C'"| s sa w3 e 5 >
- — =
. IE=2 43 5.2 4.2 N L
Very little | _
complementary o as as ed e = 0.50
. . L IXe asig =V. )
information beyond all variable, ¢, = 10.3
Neonstits - mp | | | | | | | 1
m 1:[13=1 1:[13=2 CE=O CE=1 C'?:z Neonstits FQjet
“allvar” very close to the observable
combined two-variable
performance.



Dependence on p-

qg, pT = 500-600 GeV, AK8

qag, pT = 300-400 GeV, AK8

T I | I I
Cojer | 49 54 48 9.1 54 48
Neonstits | 99 9.2 96 26 93 26 87
Clj:z 43 5.1 42 83 5.2 42
C|::1 46 5.1 52 81 47
C':ZO 84 83 83 8.2
1[13:2 43 52 42 R_ O . 8 ’
- pr 300-400 GeV
15:1 49 48 !
| fixed ¢, = 0.50
all variable, Epig = 10.3
m 44
| | | | | | |
m T§=1 TE=2 C?_O CE=1 C[j:Z Neonstits eret

observable

—
o
n

-
o

(™3/1) uonoale. ‘Byq

Performance very independent of pT

(to within ~15%)

T I | I T |
Cojer | 50 54 a7 92 5.4 a7
Neonstits | 108 104 105 103 107 106 93
szz 44 5.0 42 85 5.0 42
C:H 47 5.0 5.0 83 47
CI:ZO 8.4 83 8.4 83
1:'13:2 43 5.0 42 R - O . 8 ’
- pr 500-600 GeV-
1’13:1 49 a7 .
fixed ¢, = 0.50
all variable, Epig = 13.4
m 4.4
| | | | | | |
m -cﬁ=1 -cﬁ=2 CE=O C?=1 C?=2 Neonstits rQJeK
qg, pT = 1000-1100 GeV, AK8
T T T T T T
Fet | 50 55 48 9.4 55 49 105
Neonstits | 114 1.9 17 108 120 1.6 10.1
C?=2 47 52 2.4 86 5.1 44
C:H 5.0 5.1 5.1 85 48
C?=0 87 86 86 83
125:2 a7 5.1 44 R: 0 . 8 ,
— pr 1-1.1 TeV
=1
1:?' 5.1 48 .
fixed €gig = 0.50
all variable, ¢, =12.8
m 45
| | | | | |
m 1[13=1 r[::z C[13=0 CE=1 cP2 MNoonsis Ty

observable

—
o
™

—_
o

—

—
o
)

—
o

(™93/1) uonoale. ‘Brg

(*"3/1) uonoalal Bxg



1—‘Qjet

Neonstits

Performance markedly better for smaller

=2

p=:
Ci

radius.
— Also see more complementarity.

We should add R=0.4 to the 300 and 500

bins.

Dependence on R

qg, pT = 1000-1100 GeV, AK4
I I I I I

5.9 6.2 5.4 10.0 6.1 5.4
_13.0 15.1 13.6 11.8 14.8 13.4 1.4
B 5.5 5.5 4.7 8.6 5.5 4.7 |
B 5.2 5.6 5.5 8.4 5.1 |
B 8.9 8.4 8.7 8.3 |

R=0.4,

5.4 55 4.7
— pr1-1.1TeV |
. fixed ¢, = 0.50
» all variable, Epig = 17.7
l \ \ \ \ \ \
m 17[15=1 1[15:2 C[?:O CE=1 C?=2 Neonstits rQiﬂ

observable

—
o
)

—_
o

(™93/1) uonosle. Byq

qg, pT = 1000-1100 GeV, AK8

T I | I T |
L et 5.0 55 48 94 55 49 105
Neonstits | 114 1.9 1.7 108 120 1.6 101
szz 47 5.2 44 86 5.4 44
C:H 5.0 5.1 5.1 85 48
CI:ZO 87 86 86 83
1:'13:2 47 5.1 24 R - O . 8 ’
u pr 1-1.1 TeV |
rfﬂ 5.1 48 i
| fixed ¢, = 0.50
all variable, Epig = 12.8
m| as
| | | | | | |
m ‘Cﬁ=1 Tﬁ=2 CE=O C?=1 C?=2 Neonstits rQJet

ag, pT = 1000-1100 GeV, AK12

T T T T T T
Pet | 43 49 41 88 48 44 82
Neonsiits | 9:3 85 94 26 87 93 8.1
C:H 45 47 47 8.1 43
C?=0 83 8.2 83 8.2
. R=1.2,
— pr 1-1.1 TeV
'I:?Z1 47 44 i
- fixed €gig = 0.50
all variable, ¢, =12.9
m 4.0
| | | | | | |
m 'Cﬁ=1 ‘Cﬁzz szo CB=1 Cﬁ=2 Noonstits FQJet

1

observable

—
o
™

—_
o

—

—
o
)

—
o

(™3/1) uonoale. ‘Brg

(*"3/1) uonoala Bxg



